## Introduction

LEW Environmental Services, LLC. was contracted by Princeton Public Schools to test for the presence of lead in drinking water in Seven facilities in the district.

# **Sampling Methodology**

LEW Environmental Services, LLC. followed NJAC 6A:26. Full details on sampling practices can be found in Districts Sampling Plan.

All samples were collected in 250mL wide mouth plastic containers that was prepackaged by the analytical laboratory. The sample containers may contain nitric acid, if expedited analysis is required. If not, nitric acid will be added to each sample upon arrival at the laboratory. At each sample location, the first draw sample was taken after it was determined that the water had been standing in the plumbing system for greater than eight hours but less than forty-eight hours. If second draw samples were collected, they were collecting following a flushing protocol outlined in the District's Sampling Plan.

# **Drinking Water Results**

On December 7-8, 2024, and January 20, 2025, LEW Environmental Services, LLC. collected the following number of water samples:

### **Administration Building**

- 3 first draw samples collected plus 1 QAQC blank sample
- 0 sample above the 15ppb action level

### **Community Park School**

- 33 first draw samples collected plus 1 QAQC blank sample
- 1 sample above the 15ppb action level

#### Johnson Park Elementary School

- 39 first draw samples collected plus 1 QAQC blank sample
- 3 samples above the 15ppb action level

### **Littlebrook Elementary School**

- 25 first draw samples collected plus 1 QAQC blank sample
- 2 samples above the 15ppb action level

#### **Princeton High School**

- 60 first draw samples collected plus 1 QAQC blank sample
- 0 sample above the 15ppb action level

#### **Riverside Elementary School**

- 33 first draw samples collected plus 1 QAQC blank sample
- 1 sample above the 15ppb action level

#### Witherspoon Middle School

- 38 first draw samples collected plus 1 QAQC blank sample
- 0 sample above the 15ppb action level

The complete list of samples that exceeded the 15ppb limit can be found in Appendix A. The complete list of all sample results can be found in Appendix C. The laboratory results can be found in Appendix F.

Certain outlets could not or were not tested due to various reasons. The following table lists those locations and the reason why samples were not collected.

School	Sample Location	Reason for not testing.
Admin Building	By Boiler Rm	Disabled
Admin Building	2 <sup>nd</sup> FLR by Exit	Disabled
Admin Building	Hall by Rm 201	Disabled

Admin Building	By Shop	Disabled
Community Park	Hall by Rm 139	Not functional
Community Park	Room 109	Out of order
Community Park	Room 113 Right	Not functional
Community Park	Hall across Rm 208	Not functional
Community Park	Room 237	No access
Johnson Park	Room 219	Low flow
Johnson Park	Room 134	Not functional
Johnson Park	Room 137	Not functional
Johnson Park	Hall by 127/129 Right	Not functional
Littlebrook	Room 9	Low flow
Littlebrook	Room 16	Not functional
Littlebrook	Room 21	Broken
Littlebrook	Room 29	Not functional
Littlebrook	Room 33	Covered
Littlebrook	Room 30	Covered
Littlebrook	Room 32	covered
Littlebrook	Room 39	Low flow
Princeton H. S.	Boys Locker Room (B 96)	Not functional
Riverside	Room 13	Low flow
Riverside	Hall across Rm 38	Not functional
Riverside	Hall across Rm 38	Not functional

## Recommendations

On December 7-8, 2024, and January 20, 2025, LEW Environmental Services, LLC. collected the first draw samples. We recommend the following actions.

Those outlets where the first draw sample tested below 15ppb are not considered to be elevated and no remediation is necessary.

For those outlets where the first draw sample exceeds 15ppb the following steps are recommended:

- 1) Immediately discontinue use of the outlets.
- 2) Conduct second draw (flush) samples on these outlets to further delineate source of contamination.

A complete list of recommendations per outlet can be found in Appendix B.

## **Additional Recommendations**

- 1) Follow-up samples should be collected after any remediation efforts in order to determine the efficacy of the work.
- 2) Any of the inoperable/non-functioning outlets listed above that are brought back into service should be sampled.
- 3) Comply with all requirements set forth in NJAC 6A:26.

# Appendix A Exceedances

Building	DateCollected	AnalysisDate	Sample ID	Sample Description	Concentration (ppb)
Community Park	12/8/2024	12/19/2024	18	ROOM 114	85.9
Johnson Park Elementary	12/8/2024	12/19/2024	6	ROOM 207	55.9
Johnson Park Elementary	12/8/2024	12/19/2024	14	ROOM 216	30.6
Johnson Park Elementary	12/8/2024	12/19/2024	15	ROOM 217	24.6
Littlebrook Elementary	12/7/2024	12/23/2024	14	ROOM 19	120
Littlebrook Elementary	12/7/2024	12/18/2024	17	ROOM 25	19.7
Riverside Elementary	12/7/2024	12/19/2024	24	ROOM 40	15.2

# Appendix B Recommendations

Building	Location	Remediation Recommendation
Community Park	<b>ROOM 114</b>	Discontinue use and perform second draw sampling
Johnson Park Elementary	<b>ROOM 207</b>	Discontinue use and perform second draw sampling
Johnson Park Elementary	<b>ROOM 216</b>	Discontinue use and perform second draw sampling
Johnson Park Elementary	<b>ROOM 217</b>	Discontinue use and perform second draw sampling
Littlebrook Elementary	ROOM 19	Discontinue use and perform second draw sampling
Littlebrook Elementary	ROOM 25	Discontinue use and perform second draw sampling
Riverside Elementary	ROOM 40	Discontinue use and perform second draw sampling

# Appendix C All Results

Building	DateCollected	AnalysisDate	Sample ID	Sample Description	Concentration (ppb)
Administration Building	12/8/2024	12/23/2024	4	CONFERENCE ROOM RM 201	<1.00
Administration Building	12/8/2024	12/23/2024	5	BY MENS BATHROOM	<1.00
Administration Building	12/8/2024	12/23/2024	7	HALL BY ELECTRIC ROOM	<1.00
Administration Building	12/8/2024	12/23/2024	8	ROOM SR	<1.00

Building	DateCollected	AnalysisDate	Sample ID	Sample Description	Concentration (ppb)
Community Park	12/8/2024		1	KITCHEN	1.31
Community Park	12/8/2024	12/19/2024	2	TEACHERS LOUNGE	<1.00
Community Park	12/8/2024	12/19/2024	4	CAFETERIA	<1.00
Community Park	12/8/2024	12/19/2024	4A	CAFETERIA	<1.00
Community Park	12/8/2024	12/19/2024	5	MAIN OFFICE KITCHEN	10.8
Community Park	12/8/2024	12/19/2024	6	NURSES OFFICE	<1.00
Community Park	12/8/2024	12/19/2024	7	NURSES OFFICE ROOM	1.51
Community Park	12/8/2024	12/19/2024	8	HALL ACROSS RM 107	<1.00
Community Park	12/8/2024	12/19/2024	8A	HALL ACROSS RM 107	<1.00
Community Park	12/8/2024	12/19/2024	9	ROOM 136	1.48
Community Park	12/8/2024	12/19/2024	10	ROOM 135	1.45
Community Park	12/8/2024	12/23/2024	11	ROOM 134	1.03
Community Park	12/8/2024	12/19/2024	12	ROOM 133	<1.00
Community Park	12/8/2024	12/19/2024	13	ROOM 112	2.61
Community Park	12/8/2024	12/19/2024	15	ROOM 113 LEFT	4.48
Community Park	12/8/2024	12/19/2024	18	ROOM 114	85.9
Community Park	12/8/2024	12/19/2024	19	ROOM 117	7.58
Community Park	12/8/2024	12/19/2024	20	ROOM 118	4.24
Community Park	12/8/2024	12/19/2024	21	ROOM 204	3.55
Community Park	12/8/2024	12/19/2024	22	ROOM 221	3.46
Community Park	12/8/2024	12/19/2024	23	ROOM 220	2.47
Community Park	12/8/2024	12/19/2024	24	ROOM 205	3.97
Community Park	12/8/2024	12/19/2024	25	ROOM 219	6.59
Community Park	12/8/2024	12/19/2024	26	HALL ACROSS RM 208	<1.00
Community Park	12/8/2024	12/19/2024	27	ROOM 208	5.38
Community Park	12/8/2024	12/19/2024	28	ROOM 216	7.31
Community Park	12/8/2024	12/19/2024	29	ROOM 209	12.5
Community Park	12/8/2024	12/19/2024	30	ROOM 215	6.27
Community Park	12/8/2024	12/19/2024	31	ROOM 210	1.39
Community Park	12/8/2024	12/19/2024	32	ROOM 211	3.65
Community Park	12/8/2024	12/19/2024	34	ROOM 236	2.14
Community Park	12/8/2024	12/19/2024	35	ROOM 235	1.29
Community Park	12/8/2024	12/19/2024	36	ROOM 121	<1.00
Community Park	12/8/2024	12/19/2024	37	ROOM SR	<1.00

Building	DateCollected	AnalysisDate	Sample ID	Sample Description	Concentration (ppb)
Johnson Park Elementary	12/8/2024	12/19/2024	1	CAFETERIA	<1.00
Johnson Park Elementary	12/8/2024	12/19/2024	1A	CAFETERIA	<1.00
Johnson Park Elementary	12/8/2024	12/19/2024	2	KITCHEN ACROSS STOVE	1.29
Johnson Park Elementary	12/8/2024	12/19/2024	3	KITCHEN	3.69
Johnson Park Elementary	12/8/2024	12/19/2024	4	LOWER ATRIUM	2.06
Johnson Park Elementary	12/8/2024	12/19/2024	5	ROOM 206	2.92
Johnson Park Elementary	12/8/2024	12/19/2024	6	ROOM 207	55.9
Johnson Park Elementary	12/8/2024	12/19/2024	8	ROOM 208	1.91
Johnson Park Elementary	12/8/2024	12/19/2024	9	ROOM 209	4.45
Johnson Park Elementary	12/8/2024	12/19/2024	10	ROOM 210	11
Johnson Park Elementary	12/8/2024	12/19/2024	11	HALL ACROSS RM 212	<1.00
Johnson Park Elementary	12/8/2024	12/19/2024	11A	HALL ACROSS RM 212	<1.00
Johnson Park Elementary	12/8/2024	12/19/2024	12	ROOM 212	9.59
Johnson Park Elementary	12/8/2024	12/19/2024	13	ROOM 214	3.44
Johnson Park Elementary	12/8/2024	12/19/2024	14	ROOM 216	30.6
Johnson Park Elementary	12/8/2024	12/19/2024	15	ROOM 217	24.6
Johnson Park Elementary	12/8/2024	12/19/2024	16	ROOM 218	2.4
Johnson Park Elementary	12/8/2024	12/19/2024	18	ROOM 220	12.9
Johnson Park Elementary	12/8/2024	12/19/2024	19	ROOM 221	11.8
Johnson Park Elementary	12/8/2024	12/19/2024	20	TEACHERS LOUNGE	1
Johnson Park Elementary	12/8/2024	12/19/2024	21	ROOM 104	7.65
Johnson Park Elementary	12/8/2024	12/19/2024	22	ROOM 105	11.6
Johnson Park Elementary	12/8/2024	12/19/2024	23	ROOM 109	5.54
Johnson Park Elementary	12/8/2024	12/19/2024	24	ROOM 110	1.79
Johnson Park Elementary	12/8/2024	12/19/2024	26	ROOM 112	3.43
Johnson Park Elementary	12/8/2024	12/19/2024	27	ROOM 114	3.33
Johnson Park Elementary	12/8/2024	12/19/2024	28	ROOM 115	5.91
Johnson Park Elementary	12/8/2024	12/19/2024	29	ROOM 117	3.16
Johnson Park Elementary	12/8/2024	12/19/2024	30	ROOM 118	5.52
Johnson Park Elementary	12/8/2024	12/19/2024	31	ROOM 119	1.7
Johnson Park Elementary	12/8/2024	12/19/2024	32	ROOM 124	4.93
Johnson Park Elementary	12/8/2024	12/19/2024	33	ROOM 125	6.24
Johnson Park Elementary	12/8/2024	12/19/2024	34	ROOM 133	5.33
Johnson Park Elementary	12/8/2024	12/19/2024	35	ROOM 132	3.22
Johnson Park Elementary	12/8/2024	12/19/2024	38	HALL BY 127/129 LEFT	<1.00
Johnson Park Elementary	12/8/2024	12/19/2024	38A	HALL BY 127/129 LEFT	<1.00
Johnson Park Elementary	12/8/2024	12/19/2024	40	GYM ROOM 301	<1.00
Johnson Park Elementary	12/8/2024	12/19/2024	41	NURSES OFFICE	4.06
Johnson Park Elementary	12/8/2024	12/19/2024	42	NURSES OFFICE A5A	1.6
Johnson Park Elementary	12/8/2024	12/19/2024	43	ROOM SA	<1.00

Building	DateCollected	AnalysisDate	Sample ID	Sample Description	Concentration (ppb)
Littlebrook Elementary				NURSES OFFICE	<1.00
Littlebrook Elementary	12/7/2024	12/18/2024		NURSES OFFICE	1.16
Littlebrook Elementary		12/18/2024	3	HALL ACROSS RM 7	<1.00
Littlebrook Elementary	12/7/2024	12/23/2024	5	ROOM 11	14.6
Littlebrook Elementary	12/7/2024	12/18/2024	6	ROOM 8	5.87
Littlebrook Elementary	12/7/2024	12/18/2024	8	ROOM 13	4.38
Littlebrook Elementary	12/7/2024	12/18/2024	10	ROOM 12	7.3
Littlebrook Elementary	12/7/2024	12/18/2024	11	ROOM 14	9.74
Littlebrook Elementary	12/7/2024	12/18/2024	13	ROOM 17	1.41
Littlebrook Elementary	12/7/2024	12/23/2024	14	ROOM 19	120
Littlebrook Elementary	12/7/2024	12/18/2024	16	ROOM 23	6.46
Littlebrook Elementary	12/7/2024	12/18/2024	17	ROOM 25	19.7
Littlebrook Elementary			18	ROOM 27	4.81
Littlebrook Elementary	12/7/2024	12/18/2024	20	ROOM 37	<1.00
Littlebrook Elementary	12/7/2024	12/18/2024	23	ROOM 31	5.79
Littlebrook Elementary		12/18/2024	24	ROOM 28	3.45
Littlebrook Elementary	12/7/2024	12/18/2024	27	ROOM 34	9.18
Littlebrook Elementary		12/19/2024	28	ROOM 36	12
Littlebrook Elementary	12/7/2024	12/19/2024	30	ROOM 41	2.66
Littlebrook Elementary		12/19/2024	31	HALL BY GYM	<1.00
Littlebrook Elementary	12/7/2024	12/19/2024	31A	HALL BY GYM	<1.00
Littlebrook Elementary	12/7/2024	12/19/2024	32	STAFF ROOM RM 45	<1.00
Littlebrook Elementary		12/19/2024	33	CAFETERIA BY RM 55	<1.00
Littlebrook Elementary		12/19/2024	33A	CAFETERIA BY RM 55	<1.00
Littlebrook Elementary				KITCHEN SINK BY STOVE	<1.00
Littlebrook Elementary	12/7/2024	12/19/2024	35	ROOM SR	<1.00

Building	DateCollected	AnalysisDate	Sample ID	Sample Description	Concentration (ppb)
Princeton High School	1/20/2025	2/4/2025	1	PHS-S-1	3.22
Princeton High School	1/20/2025	2/4/2025	2	PHS-S-2	1.43
Princeton High School	1/20/2025	2/4/2025	3	PHS-S-3	1.9
Princeton High School	1/20/2025	2/4/2025	4	PHS-S-4	2.14
Princeton High School	1/20/2025	2/5/2025	5	PHS-IM-5	<1.00
Princeton High School	1/20/2025	2/4/2025	6	PHS-WC-6	<1.00
Princeton High School	1/20/2025	2/4/2025	7	PHS-BF-7	<1.00
Princeton High School	1/20/2025	2/4/2025	8	PHS-WC-8	<1.00
Princeton High School	1/20/2025	2/4/2025	9	PHS-WC-9	<1.00
Princeton High School	1/20/2025	2/4/2025	10	PHS-WC-10	<1.00
Princeton High School	1/20/2025	2/4/2025	11	PHS-WC-11	<1.00
Princeton High School	1/20/2025	2/4/2025	12	PHS-WC-12	<1.00
Princeton High School	1/20/2025	2/4/2025	13	PHS-WC-13	<1.00
Princeton High School	1/20/2025	2/4/2025	14	PHS-WC-14	<1.00
Princeton High School	1/20/2025	2/4/2025	15	PHS-BF-15	<1.00
Princeton High School	1/20/2025	2/4/2025	16	PHS-S-16	<1.00
Princeton High School	1/20/2025	2/4/2025	17	PHS-BF-17	<1.00
Princeton High School	1/20/2025	2/4/2025	18	PHS-BF-18	<1.00
Princeton High School	1/20/2025	2/4/2025	19	PHS-BF-19	<1.00
Princeton High School	1/20/2025	2/4/2025	20	PHS-BF-20	<1.00
Princeton High School	1/20/2025	2/4/2025	21	PHS-WC-21	<1.00
Princeton High School		2/4/2025	22	PHS-WC-22	
Princeton High School	1/20/2025 1/20/2025	2/4/2025	23	PHS-WC-23	<1.00 <1.00
Princeton High School		2/4/2025	24	PHS-WC-24	<1.00
	1/20/2025				
Princeton High School	1/20/2025	2/4/2025	26	PHS-BF-26	<1.00
Princeton High School	1/20/2025	2/4/2025	27	PHS-IM-27	<1.00
Princeton High School	1/20/2025	2/4/2025	28	PHS-WC-28	<1.00
Princeton High School	1/20/2025	2/4/2025	29	PHS-WC-29	2.15
Princeton High School	1/20/2025	2/4/2025	30	PHS-BF-30	<1.00
Princeton High School	1/20/2025	2/4/2025	31	PHS-S-31	1.14
Princeton High School	1/20/2025	2/4/2025	32	PHS-WC-32	<1.00
Princeton High School	1/20/2025	2/4/2025	33	PHS-BF-33	<1.00
Princeton High School	1/20/2025	2/4/2025	34	PHE-WC-34	<1.00
Princeton High School	1/20/2025	2/4/2025	35	PHS-S-35	1.06
Princeton High School	1/20/2025	2/4/2025	36	PHS-S-36	2.9
Princeton High School	1/20/2025	2/4/2025	37	PHS-S-37	<1.00
Princeton High School	1/20/2025	2/4/2025	38	PHS-WC-38	<1.00
Princeton High School	1/20/2025	2/4/2025	39	PHS-BF-39	<1.00
Princeton High School	1/20/2025	2/4/2025	40	PHS-WC-40	2.63
Princeton High School	1/20/2025	_, ,,		PHS-WC-41	2.53
Princeton High School	1/20/2025		42	PHS-WC-42	1.36
Princeton High School	1/20/2025	2/4/2025	43	PHS-WC-43	1.48
Princeton High School	1/20/2025	2/4/2025	44	PHS-WC-44	3.74
Princeton High School	1/20/2025	2/4/2025	45	PHS-WC-45	5.77
Princeton High School	1/20/2025	2/4/2025	46	PHS-WC-46	<1.00
Princeton High School	1/20/2025	2/4/2025	47	PHS-WC-47	<1.00
Princeton High School	1/20/2025	2/4/2025	48	PHS-WC-48	<1.00
Princeton High School	1/20/2025	2/4/2025	49	PHS-WC-49	<1.00
Princeton High School	1/20/2025	2/4/2025	50	PHS-WC-50	<1.00
Princeton High School	1/20/2025	2/4/2025	51	PHS-WC-51	<1.00
Princeton High School	1/20/2025	2/4/2025	52	PHS-BF-52	<1.00
Princeton High School	1/20/2025	2/4/2025	53	PHS-WC-53	<1.00
Princeton High School	1/20/2025	2/4/2025	54	PHS-WC-54	<1.00
Princeton High School	1/20/2025	2/4/2025	55	PHS-WC-55	<1.00
Princeton High School	1/20/2025	2/4/2025	56	PHS-WC-56	<1.00
Princeton High School	1/20/2025	2/4/2025	57	PHS-WC-57	1.08
Princeton High School	1/20/2025	2/4/2025	58	PHS-WC-58	<1.00
Princeton High School	1/20/2025	2/4/2025	59	PHS-WC-59	2.07
Princeton High School	1/20/2025	2/4/2025	60	PHS-WC-60	2.1
Princeton High School	1/20/2025	2/4/2025	61	PHS-S-61	<1.00
Princeton High School	1/20/2025	2/4/2025	62	QAQC BLANK	<1.00
·				•	

Building	DateCollected	AnalysisDate	Sample ID	Sample Description	Concentration (ppb)
Riverside Elementary	12/7/2024	12/19/2024	1	CAFETERIA	<1.00
Riverside Elementary	12/7/2024	12/19/2024	1A	CAFETERIA	<1.00
Riverside Elementary	12/7/2024	12/19/2024	2	KITCHEN ACROSS STOVE	1.2
Riverside Elementary	12/7/2024	12/19/2024	3	KITCHEN	<1.00
Riverside Elementary	12/7/2024	12/19/2024	4	ROOM 1	6.42
Riverside Elementary	12/7/2024	12/19/2024	5	ROOM 2	<1.00
Riverside Elementary	12/7/2024	12/19/2024	6	ROOM 3	<1.00
Riverside Elementary	12/7/2024	12/19/2024	7	ROOM 4	<1.00
Riverside Elementary	12/7/2024	12/19/2024	8	HALL BETWEEN BOYS/GIRLS BATHS	<1.00
Riverside Elementary	12/7/2024	12/19/2024	8A	HALL BETWEEN BOYS/GIRLS BATHS	<1.00
Riverside Elementary	12/7/2024	12/19/2024	9	MUSIC ROOM (RM 9)	<1.00
Riverside Elementary	12/7/2024	12/19/2024	10	ROOM 10	2.28
Riverside Elementary	12/7/2024	12/19/2024	12	ROOM 14	1.28
Riverside Elementary	12/7/2024	12/19/2024	13	ROOM 17	1.37
Riverside Elementary	12/7/2024	12/19/2024	14	ROOM 18	4.63
Riverside Elementary	12/7/2024	12/19/2024	15	ROOM 21	3.34
Riverside Elementary	12/7/2024	12/19/2024	16	ROOM 22	3.76
Riverside Elementary	12/7/2024	12/19/2024	17	ROOM 25	2.18
Riverside Elementary	12/7/2024	12/19/2024	18	ROOM 26	4.36
Riverside Elementary	12/7/2024	12/19/2024	19	ROOM 30	2.66
Riverside Elementary	12/7/2024	12/19/2024	20	STAFF ROOM (RM 33)	<1.00
Riverside Elementary	12/7/2024	12/19/2024	22	ROOM 38	2.68
Riverside Elementary	12/7/2024	12/19/2024	23	ROOM 41	1.64
Riverside Elementary	12/7/2024	12/19/2024	24	ROOM 40	15.2
Riverside Elementary	12/7/2024	12/19/2024	25	ROOM 43	10.2
Riverside Elementary	12/7/2024		26	ROOM 42	1.27
Riverside Elementary	12/7/2024	12/19/2024	27	ROOM 45	7.16
Riverside Elementary	12/7/2024	12/19/2024	28	ROOM 44	4.98
Riverside Elementary	12/7/2024	12/19/2024	29	ROOM 47	2.1
Riverside Elementary	12/7/2024	12/19/2024	30	ROOM 51	1.37
Riverside Elementary	12/7/2024	12/19/2024	31	ROOM 52	6.87
Riverside Elementary	12/7/2024	12/19/2024	32	NURSES OFFICE	<1.00
Riverside Elementary	12/7/2024	12/19/2024	33	NURSES OFFICE	1.68
Riverside Elementary	12/7/2024	12/19/2024	34	ROOM SR	<1.00

Building			Sample ID	Sample Description	Concentration (ppb)
Witherspoon Middle School	1/20/2025	2/3/2025	1	JMS-WC-1	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	2	JMS-WC-2	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	3	JMS-WC-3	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	4	JMS-BF-4	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	5	JMS-WC-5	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025		JMS-BF-6	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	7	JMS-WC-7	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	8	JMS-WC-8	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	9	JMS-BF-9	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	10	JMS-WC-10	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	11	JMS-BF-11	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	12	JMS-WC-12	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	13	JMS-BF-13	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	14	JMS-S-14	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	15	JMS-S-15	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	16	JMS-S-16	3.7
Witherspoon Middle School	1/20/2025	2/3/2025	17	JMS-WC-17	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	18	JMS-BF-18	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	19	JMS-WC-19	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	20	JMS-BF-20	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	21	JMS-WC-21	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	22	JMS-BF-22	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	23	JMS-WC-23	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	24	JMS-S-24	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	25	JMS-S-25	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	26	JMS-S-26	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	27	JMS-S-27	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	28	JMS-IM-28	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	29	JMS-BF-29	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	30	JMS-WC-30	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	31	JMS-BF-31	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	32	JMS-WC-32	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	33	JMS-BF-33	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	34	JMS-WC-34	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	35	JMS-BF-35	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	36	JMS-S-36	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	37	JMS-WC-37	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	38	JMS-BF-38	<1.00
Witherspoon Middle School	1/20/2025	2/3/2025	39	QAQC-BLANK	<1.00